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1. Condition of person depend on:

(A) Limitation of adapted physical

education

(B) Baldness

(C) Both (A) and (B)

(D) None of the above

2. In which year guiding principle of adapted

physical education formulated?

(A) 1951

(B) 1952

(C) 1953

(D) 1954

3. Guiding principles were given by:

(A) Arthur S. Daniel

(B) Powel

(C) Dunai

(D) None of the above

4. Which committee formulated guiding

principles?

(A) AAHPHERD

(B) NITI

(C) Both (A) and (B)

(D) None of the above

5. Who headed the committee to form guided

principles?

(A) Arthur S. Daniel

(B) J.S. Dhaul

(C) Both (A) and (B)

(D) None of the above

1. O;fDr dh fLFkfr fuHkZj djrh gS%

(A) vuqdwfyr 'kkjhfjd f'k{kk dh lhek

ij

(B) xatkiu

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

2. vuqdwfyr 'kkjhfjd f'k{kk ds funsZ'kd fl)kUr

fdl o"kZ izfrikfnr fd;s x;s\

(A) 1951 esa

(B) 1952 esa

(C) 1953 esa

(D) 1954 esa

3. fn'kk funsZ'k fl)kUr fdlus izfrikfnr fd;k\

(A) vkFkZj ,l- Msfu;y

(B) ikWosy

(C) MqukbZ

(D) mijksDr esa ls dksbZ ugha

4. fdl lfefr }kjk fn'kk funsZ'kd fl)kUr

cuk;k x;k\

(A) AAHPHERD

(B) NITI

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

5. funs'kd fl)kUr dh izfriknd lfefr ds

izeq[k dkSu Fks\

(A) vkFkZj ,l- Msfu;y

(B) ts-,l- /kkSy

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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6. Weakening of muscles is:

(A) Atrophy

(B) Hypertrophy

(C) Both (A) and (B)

(D) None of the above

7. Mud Therapy related to:

(A) Mud (soil)

(B) Wax

(C) Water

(D) None of the above

8. Corrective exercise is related to:

(A) correct posture of injured

part

(B) walk properly

(C) sit properly

(D) none of the above

9. Yoga therapy is related to:

(A) Yoga

(B) Walk

(C) Jump

(D) None of the above

10. Steam Therapy is related to:

(A) Steam

(B) Water

(C) Wax

(D) None of the above

6. ek¡lisf'k;ksa dk detksj iM+ tkuk gS%

(A) ,VªkWQh

(B) gkbijVªkWQh

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

7. eM Fksjsih lEcfU/kr gS%

(A) eM ;k feV~Vh

(B) ekse

(C) ikuh

(D) mijksDr esa ls dksbZ ugha

8. djSfDVo O;k;ke lEcfU/kr gS%

(A) pksfVy Hkkx ds foU;kl dks lgh

djuk

(B) lgh ls pyuk

(C) lgh ls cSBuk

(D) mijksDr esa ls dksbZ ugha

9. ;ksx Fksjsih lEcfU/kr gS%

(A) ;ksx

(B) Vgyuk

(C) dwn

(D) mijksDr esa ls dksbZ ugha

10. LVhe Fksjsih lEcfU/kr gS%

(A) Hkki

(B) ty

(C) ekse

(D) mijksDr esa ls dksbZ ugha
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11. E stands for in PRICE:

(A) Elevation

(B) Elimination

(C) Both (A) and (B)

(D) None of the above

12. Rehabilitation exercises are divided in:

(A) General

(B) Specific

(C) Both (A) and (B)

(D) None of the above

13. Exercise which is done without help of, is:

(A) Active

(B) Passive

(C) Nutral

(D) None of the above

14. Strengthening exercises in Rehabilitation

are:

(A) Isometric

(B) Isotonic

(C) Isokinetic

(D) All of the above

15. Psychological Training methods are used

in Rehabilitation to reduce:

(A) Anxiety

(B) Confidence

(C) Both (A) and (B)

(D) None of the above

11. PRICE esa E ls D;k rkRi;Z gS\

(A) ,yhos'ku

(B) ,yhfeus'ku

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

12. jhgSfcfyVs'ku O;k;ke fdrus Hkkxksa esa cVs gS\

(A) lkekU; O;k;ke

(B) fof'k"V O;k;ke

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

13. ,sls O;k;ke tks fcuk lgk;rk ds fd, tkrs gSa%

(A) lfØ;

(B) fuf"Ø;

(C) mnklhu

(D) mijksDr esa ls dksbZ ugha

14. jhgS fcfyV s'ku es a 'kfDro/k Zd O;k;ke

gSa%

(A) vkblksesfVªd

(B) vkblksVksfud

(C) vkblksdkbusfVd

(D) mijksDr lHkh

15. euksoSKkfud izf'k{k.k fof/k;k¡ jhgSfcfyVs'ku esa

iz;ksx yk;h tkrh gS rkfd ----- de fd;k tk ldsA

(A) fpUrk

(B) fo'okl

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha
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16. Adapted physical education made for:

(A) Disabled person

(B) Sick person

(C) Both (A) and (B)

(D) None of the above

17. Aim of adapted physical education :

(A) To provide physical education to

special (adapted)

(B) To provide physical education to

discised

(C) To provide physical education to all

(D) None of the above

18. Origin of adapted physical education is in:

(A) 2500 B.C.

(B) 500 B.C.

(C) 400 B.C.

(D) 5000 B.C.

19. Adapted physical education was origin in :

(A) China

(B) America

(C) India

(D) None of the above

20. In which century adapted physical education

was developed most?

(A) 1600 A.D.

(B) 1700 A.D.

(C) 1900 A.D.

(D) 2000 A.D.

16. vuqdwfyr 'kkjhfjd f'k{kk cuh gS%

(A) v{ke O;fDr ds fy,

(B) chekj O;fDr ds fy,

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

17. vuqdwfyr 'kkjhfjd f'k{kk dk y{; gS%

(A) vuqdwfyrksa dks 'kkjhfjd f'k{kk nsuk

¼iznku djuk½

(B) chekjk s a dk s ' kkjhfjd f'k{kk

nsuk

(C) lHkh dks 'kkjhfjd f'k{kk nsuk

(D) mijksDr esa ls dksbZ ugha

18. vuqdwfyr 'kkjhfjd f'k{kk dh mRifRr dc gqbZ\

(A) 2500 bZ-iw- esa

(B) 500 bZ-iw- esa

(C) 400 bZ-iw- esa

(D) 5000 bZ-iw- esa

19. vuqdwfyr 'kkjhfjd f'k{kk dh mRifRr dgk¡ gqbZ\

(A) phu esa

(B) vesfjdk esa

(C) Hkkjr esa

(D) mijksDr esa ls dksbZ ugha

20. vuqdwfyr 'kkjhfjd f'k{kk fdl lnh esa

lokZf/kd fodflr gqbZ\

(A) 1600 bZ-iw- esa

(B) 1700 bZ-iw- esa

(C) 1900 bZ-iw- esa

(D) 2000 bZ-iw- esa
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21. Wax is used in which therapy?

(A) Parafin bath

(B) Whirlpool

(C) Both (A) and (B)

(D) None of the above

22. C stands for in RICE :

(A) Compression

(B) Sit

(C) Stand

(D) None of the above

23. Which is skin injury?

(A) Abrasion

(B) Fracture

(C) Both (A) and (B)

(D) None of the above

24. R stands for in RICE :

(A) Rest

(B) Easy

(C) Ice

(D) None of the above

25. Classification of injuries related to:

(A) Serious injury

(B) Overuse injury

(C) Both (A) and (B)

(D) None of the above

21. fdl Fksjsih esa ekse iz;qDr gksrk gS\

(A) iSjkfQu ckFk

(B) OgyZiwy

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

22. RICE esa C dk vFkZ gS%

(A) nckuk

(B) cSBuk

(C) [kM+s gksuk

(D) mijksDr esa ls dksbZ ugha

23. Ropk dh pksV dkSu&lh gS\

(A) vczslu

(B) ÝSDpj

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

24. RICE esa R dk D;k rkRi;Z gS\

(A) vkjke

(B) vklku

(C) cQZ

(D) mijksDr esa ls dksbZ ugha

25. pksV dk oxhZdj.k lEcfU/kr gS%

(A) xaEHkhj pksV

(B) vksoj;wt pksV

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha
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26. Adapted physical education is a right for

upto years:

(A) 30 years

(B) 21 years

(C) 40 years

(D) 20 years

27. In which, Rehabilitation Act Adapted physical

education is described?

(A) 1973

(B) 1980

(C) 1990

(D) 2000

28. Adapted physical education gives right

under which section of Rehabilitation Act?

(A) Section 504

(B) Section 500

(C) Section 600

(D) None of the above

29. Providing physical education to disable

person is duty of:

(A) Government

(B) Institution

(C) Government, Institution, NGO

(D) None of the above

30. Adapted physical education is important for:

(A) Student

(B) Industry

(C) Society

(D) All of the above

26. vuqdwfyr 'kkjhfjd f'k{kk fdl vk;q rd ds

fy, ,d vf/kdkj gS\

(A) 30 o"kZ

(B) 21 o"kZ

(C) 40 o"kZ

(D) 20 o"kZ

27. vuqdwfyr 'kkjhfjd f'k{kk dk o.kZu fdl

fjgSfcfyVs'ku ,DV esa gS\

(A) 1973

(B) 1980

(C) 1990

(D) 2000

28. fjgSfcfyVs'ku ,DV dh fdl /kkjk esa vuqdwfyr

'kkjhfjd f'k{kk dk vf/kdkj fn;k x;k gS\

(A) 504 /kkjk

(B) 500 /kkjk

(C) 600 /kkjk

(D) mijksDr esa ls dksbZ ugha

29. v{ke O;fDr dks 'kkjhfjd f'k{kk iznku djuk

fdldk nkf;Ro gS\

(A) ljdkj

(B) laLFkku

(C) ljdkj] laLFkku] ,u-th-vks-

(D) mijksDr esa ls dksbZ ugha

30. vuqdwfyr 'kkjhfjd f'k{kk egRoiw.kZ gS%

(A) Nk= ds fy,

(B) m|ksx ds fy,

(C) lekt ds fy,

(D) mijksDr lHkh ds fy,
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31. 'Specific Adaptation to Imposed Demands'

related to:

(A) SAID

(B) SAFF

(C) SADD

(D) None of the above

32. A stands for in SAID :

(A) Adaptation

(B) Administration

(C) Both (A) and (B)

(D) None of the above

33. D stands for in SAID:

(A) Depand

(B) Demand

(C) None of the above

(D) Both (A) and (B)

34. In which game Tennis elbow generally

occurs?

(A) Tennis

(B) Badminton

(C) Both (A) and (B)

(D) None of the above

35. Lumber go related to :

(A) waist pain

(B) arm pain

(C) finger pain

(D) None of the above

31. ^LisflfQd vMkIVs'ku Vw bEiksTM fMekUM*

lEcfU/kr gS%

(A) SAID

(B) SAFF

(C) SADD

(D) mijksDr esa ls dksbZ ugha

32. SAID esa A dk D;k rkRi;Z gS\

(A) vuqdwyu

(B) iz'kklu

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

33. SAID esa D ls D;k rkRi;Z gS\

(A) fMiS.M

(B) fMekUM

(C) mijksDr esa ls dksbZ ugha

(D) nksuksa (A) rFkk (B)

34. fdl [ksy esa Vsful ,Ycks T;knkrj iznf'kZr

gksrh gS\

(A) Vsful

(B) cSMfeUVu

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

35. yEcj xks lEcfU/kr gS%

(A) dej nnZ

(B) ckWg nnZ

(C) m¡xyh nnZ

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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36. Rehabilitation is used through:

(A) PRICE

(B) MIKE

(C) Both (A) and (B)

(D) None of the above

37. Where is humerous bone situated?

(A) Arm

(B) Leg

(C) Knee

(D) None of the above

38. Treatment by snow in injury is:

(A) Cryotherapy

(B) Whirlpool

(C) Both (A) and (B)

(D) None of the above

39. Injury in knee occurs in:

(A) Cycling

(B) Boating

(C) Football

(D) None of the above

40. Injury in tendon is related to:

(A) Strain

(B) Nervous system

(C) Both (A) and (B)

(D) None of the above

36. fjgSfcfyVs'ku fdlds }kjk fn;k tkrk gS\

(A) PRICE

(B) MIKE

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

37. º;wejl gM~Mh dgk¡ ik;h tkrh gS\

(A) ckWg

(B) iSj

(C) ?kqVuk

(D) mijksDr esa ls dksbZ ugha

38. pksV yxus ij cQZ ls mipkj nsuk gS%

(A) Øk;ksFksjsih

(B) OgyZiwy

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

39. ?kqVus esa T;knkrj pksV yxrh gS%

(A) lkbfDyax esa

(B) ukSdk;u esa

(C) QqVcky esa

(D) mijksDr esa ls dksbZ ugha

40. VSUMu esa pksV lEcfU/kr gS%

(A) LVªsu

(B) raf=dk raU=

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha
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41. General exercise is:

(A) Exercise by sitting

(B) Exercise by running fast

(C) Both (A) and (B)

(D) None of the above

42. Massage therapy related to:

(A) Massage

(B) Run

(C) Walk

(D) None of the above

43. Buoyancy is related to:

(A) Swimming

(B) Walking

(C) Running

(D) All of the above

44. Tendinities is related to ____ injury.

(A) Tendon

(B) Muscle

(C) Bone

(D) None of the above

45. Who is the father of sports medicine?

(A) Herodicus

(B) J.K. Bhosle

(C) Both (A) and (B)

(D) None of the above

41. lkekU; O;k;ke gS%

(A) cSBdj O;k;ke

(B) rst nkSM+dj O;k;ke

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

42. eklkt Fksjsih lEcfU/kr gS%

(A) elkt

(B) nkSM+uk

(C) Vgyuk

(D) mijksDr esa ls dksbZ ugha

43. ckW;kUlh lEcfU/kr gS%

(A) rSjkdh ls

(B) Vgyus ls

(C) nkSM+us ls

(D) mijksDr lHkh

44. VsUMfuVht ------ pksV ls lEcfU/kr gSA

(A) VsUMu

(B) ekalis'kh

(C) gìh

(D) mijksDr esa ls dksbZ ugha

45. [ksy fpfdRlk ds firkeg dkSu gSa\

(A) gSjksfMdl

(B) ts-ds- Hkkslys

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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46. First of all where was FIRST AID word was

used?

(A) England

(B) Britain

(C) India

(D) None of the above

47. Breaking of bone is known as:

(A) Bone cancer

(B) Dislocation

(C) Fracture

(D) None of the above

48. Green stick fracture is found in:

(A) Young

(B) Children

(C) Old

(D) None of the above

49. Breaking of bone in many small

parts:

(A) Comminuted

(B) Green stick

(C) Both (A) and (B)

(D) None of the above

50. Ligament injury is related to :

(A) Strain

(B) Sprain

(C) Both (A) and (B)

(D) None of the above

46. igyh ckj izkFkfed mipkj 'kCn fdl ns'k esa

iz;ksx fd;k x;k\

(A) baXySaM

(B) fczVsu

(C) Hkkjr

(D) mijksDr esa ls dksbZ ugha

47. gM~Mh dk VwVuk dgykrk gS%

(A) cksu dSalj

(B) fMLyksds'ku

(C) ÝSDpj

(D) mijksDr esa ls dksbZ ugha

48. xzhu fLVd ÝSDpj ns[kus dks feyrk gS%

(A) toku esa

(B) cPpksa esa

(C) o)̀ksa esa

(D) mijksDr esa ls dksbZ ugha

49. gfM~M;ksa dk dbZ Hkkxksa ¼NksVs&NksVs½ esa VwVuk

dgykrk gS%

(A) dksfEeuqVsM

(B) xzhu fLVd

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

50. fyxkesUV pksV lEcfU/kr gS%

(A) LVªsu

(B) Lizsu

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha
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51. Hydrotherapy is related to:

(A) Water

(B) Wax

(C) Steam

(D) None of the above

52. Cramp is injury of:

(A) Muscles

(B) Bone

(C) Both (A) and (B)

(D) None of the above

53. Dope test was started in which year in

Olympic?

(A) 1936

(B) 1940

(C) 1968

(D) 2000

54. ODEMA is a :

(A) Swelling

(B) Cut

(C) Pain

(D) None of the above

55. Fungus between fingers:

(A) Athlete foot

(B) Sprain

(C) Strain

(D) None of the above

51. gkbMªksFksjsih lEcfU/kr gS%

(A) ty

(B) ekse

(C) Hkki

(D) mijksDr esa ls dksbZ ugha

52. ØSEi pksV gS%

(A) ekalis'kh

(B) gM~Mh

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

53. vksyafid esa Mksi VsLV fdl o"kZ 'kq:

gqvk\

(A) 1936 esa

(B) 1940 esa

(C) 1968 esa

(D) 2000 esa

54. ODEMA lEcfU/kr gS%

(A) lwtu

(B) dV

(C) nnZ

(D) mijksDr esa ls dksbZ ugha

55. vaxqfy;ksa ds chp Qaxl yx tkuk%

(A) ,FkyhV QqV

(B) Lizsu

(C) LVªsu

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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56. Physical disability is:

(A) Postural deformity

(B) Blindness

(C) Dumb

(D) None of the above

57. Mental Retardation is:

(A) Dumb

(B) Genius

(C) Mental imbalance

(D) All of the above

58. Echo hearing is:

(A) Physical disability

(B) Mental disability

(C) Visual impairment

(D) Hearing impairment

59. Night blindness is:

(A) Visual impairment

(B) Mental retardation

(C) Both (A) and (B)

(D) None of the above

60. Behavior teaching management is:

(A) Training

(B) Management

(C) Principle of adapted physical

education

(D) None of the above

56. 'kkjhfjd v{kerk gS%

(A) 'kkjhfjd lajpukRed nks"k

(B) va/kkiu

(C) eancqf)

(D) mijksDr esa ls dksbZ ugha

57. ekufld v{kerk gS%

(A) xw¡xk

(B) vfrrhoz

(C) ekufld fof{kIr

(D) mijksDr lHkh

58. vkokt xawtrk gS%

(A) 'kkjhfjd v{kerk

(B) ekufld v{kerk

(C) n`f"V nks"k

(D) Jo.k nks"k

59. jrkSa/kh gS%

(A) n`f"V ckf/krk

(B) ekufld v{kerk

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

60. O;ogkj f'k{k.k izca/ku gS%

(A) izf'k{k.k

(B) izca/ku

(C) vu qd w fyr ' k kj h fjd f' k{ k k

fl)kUr

(D) mijksDr esa ls dksbZ ugha
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Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


